CS/BBA(H)/BIRW/BSCM/Even/2nd Sem/BBA-
20212014
2014
Mathematics Il
Time Alloted : 3 Hours - Full Marks : 70

‘The figure in the margin indicate full )narks.
. Candidates are required to give their answers in their
. own words as far as practicable

~ GROUP -A
( Multiple Choice Type Questions ).

1. Choose the correct alternatives for any ten of the following:
- S T om0
I) I the order of the matrices A, B and AB are 2 x 3, m x n and
" 2x2 respectively, then the value of m and n are
2)2,2 o
b)s,2
c)2.3
d)3.3
: 1 ¢ o ~
i) The matrix (5 10) hnop-clnguhr.lftb no_toqyaltp
a1 o _

b2 .
c)3
d)4 -

2040 , 1 [ Turn over]}

http://www.makaut.com

http://www.makaut.com


http://www.makaut.com

CSIBBA(H)IBIRMIBSCMIEvenIZnd Sem/BBA-202/2014

iy  The value of llm(l +— 1) is
. X~>0 x
a)1 .
b)1e - . o
)0 & LB
d)e . .
i) T A natrix A Is said to be an idempotedit:risatrix if
a)A?=0
' h’A"‘A [T I
s)Aimi : wyas

d).noneofthq&q, % i;»:;»,,,;_ L RE
vy K f(x,y)= xCOSy+)’e then E( )'s

BN ey et i Sk s
c)-n ‘
d)ni2.

N vi')v VThe eccentriclty of the mctangular hyperbola is: .

0 i

c)2 v
d) none of these

4
vii) j’taﬁ*”xcbc: .
)
a)l-—
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(11 1)
vill) Rank of the matrix [1 -1 —1J- is

a)0 31 1
b) 1 ’
c)2
d)3

Ix) The greatest value f(x) =sinx+cosx is

a) \ﬁ
b) 22

c) 1
vz
d) none of these o .
x)  The vaiue of a skew-symmetric déterminant of odd order is

a)l3
b) 1
c)2
d)o.

xi) The length of latus rectum of the hyperbola 8x:-25y*= 225 is

9
l)g
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b) -l??-
c) %l
| d g
~ xii) Which of the following functions continuous for all real
values ofx
a) -i-
b) [x]
c) x
I
N3
2
xii)) A=(_ 3),thon (2A+A ) is
(3 2
" (;2 | 9)
2 3
o(% 3

° (-—22 )

" d) none of these
, !'V) The focus of y* = 36x is

. 2040 _ 4
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a) (3,0)
b) (8,0)

. €)(3,9) !
d)Nonoofthm

xv) The function u(x, y)-—  Gx+y) 5 is a homogeneous function
- of degree. (x- J’) S

a)1
b)0
c)2 -
a4

'GROUP-B
-( Short Answer Type Questions ).
Answer any three of the following " 3x5=1§

2. Solve the following system of equation by cramer'a Rule
X+2y+3z2m6.2x+4y+z=7,3x+2y+ 2= 14

S U U
3. Provethatla® b’ c?|=(b-c)c-a)a-b)ab+bc+ca)
HO S B a bg C’\ : R . .

4. Find the maximum value of x"* “

: (2 3 4\
8. FIndthoAd)ugaﬁmaMxoﬂhesqummtmxll 0 IJ
0 -1 4
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N
6; Evalute f— ‘
a- x)gl -x ,
7 Flnd the equation ‘of an ellipse for which the principal axes are
along the coordinato axls, the Iength of latus rectum is 4 unitand

‘eccentricity is %

'GROUP-C -
( Long Answer Type Questions )
Answer any three of the following.  3x15=45

8 a) Solve the folldwing systom of equations by Matrix lnverslon
Method :

3XW+F4' S
Xy+2zmg o
X+2y-z=3 ’
b) find The latus rectum and the co-ordinates of the foci of the
equilateral hyperbola x*—y*=25

. - (1711 Y. o :
c) Express the matrix [2 -1 3 J as a .sum of a symmetric
‘ 1 3 -2/

and skew-cymmetric matrices

9. I). Find the equation of the parabola whos focus Is at the point
(3,-2) and directrix is the line 2x-y+3=0.

(ii) Find the points of local maxima and minima and the
corresponding maximum and minimum values of the function

F)=xit
: X
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(ii) A function is defined as f(x) = |xl, for all xeR. Show.from
definition that / '(0) does not exist.
 §+5+5 ‘ '

(2 -1 ‘ <,
10. a) For the matrix A=(1 31) ,Show that 4> -54+71,=0

) 2 2 5
b) if v=sin [L’Q’_) , then show that x—-3+'yé3 =tanv
' x+y " 6x Oy :

x - dy
if y=x*, then find —
c). y=‘ ‘.n‘n ~

11. a) Ky =sin{a + bx), then find yn.

1 1

_ lim{——+ S —
b) Evaluate ngg{rﬂl n+2 +2n} ~
' lelxldx

~¢) Evaluate °-1"

12. a) Ity = sin(msin™' x) Jhen prove that (1 -'xz)yz —xy + m’y=0

b) Wu=x¢ ‘ii +y (%) then.p’r"oveﬂ\at x-g%+y%éx9s(%) |
« o ’
~¢) Evaluate jrem x -
1-x?
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